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CLASS : 3                                                                        SUBJECT: MATHS 

Academic Session 2020-21 

CHAPTER- 1 

NUMBERS 

0,1,2,3,4,5,6,7,8 and 9 are called digits. We use digits and place value to read and write 

numbers. 

Learning Outcomes- 

 Read and write 4 digit numbers and use them in daily life. 

 Use place value to write 4digit numbers in the expanded form and vice-versa. 

 Compare 4-digit numbers and arrange them in ascending/descending order. 

 Make the greatest and smallest number with given digits.  

Definition of thousand- A number equal to 10 times 100  can be defined as 1000. 

   1 thousand =10 hundreds  

Exercise – 1 (Textbook work ) 

Q.1 Write the number name of the following numbers: 
a) 4,380=Four thousand three hundred eighty 
b) 5,893=Five thousand eight hundred ninety three. 

     c)    2,845=Two thousand eight hundred forty five. 
     d)   9,098= Nine thousand ninety eight. 
    e)    4,296= Four thousand two hundred ninety six. 
Q.2 Write the number on abacus. 

a)                                                                   b)                

 

 

 

 

 

Q.3 Show the number on abacus. 

2 4 1 3 



a) 2314                               b)  

 

 

 

 

Concept of face value and place value. 

Face value 
 
The face value of a digit is the number itself. 
It remains the same in all places. 
Example- 
 
4523 = 5 
2130 = 2 
1056 = 0 

Place value 
 
The place value depends on the place of the 
digit in the number. 
 
 
4523 = 500 
2130 = 2000 
1056 = 0 

 

Exercise-2 (Textbook work ) 

Q.1 Fill in the place values.

a) 5426               (b) 3604

6

20

5000

400

 



A) 
4 2 3 4

4

30

200

4000

 

Q.3 Write the place and place value of the digit in colour. 

Number Place Place value 

a) 2436 
 

tens 30 or  3 tens 

     b) 5010 
 

hundreds 0 

 

Expanded form- When we expand a number to show the value of each of it’s digit , it is the 

expanded form of the number. 

   For example:  

   a) 3684 = 3000+600+80+4 
   b) 5079 = 5000+0+70+9 or 5000+70+9  
 

Exercise- 3(Textbook work ) 

Q.1 Write the expanded form in figures. 

a) 8173- 8000+100+70+3 
b) 9590- 9000+500+90+0 or  9000+500+90 

Q.2 Write the number. 

 a) 7000+400+50+9 = 7459                        

 b) 1000+700+10 = 1710 

 

Comparing numbers   ( explanation) 

A) Comparing numbers with different number of digits 



The number with more digits is always greater 

e.g          948                   <             5,430 

   (Three digit number)          (Four digit number) 

B) Comparing numbers with same number of digits 

1. First compare the digit at thousands place 

                   5,394 > 4,289 

                    As 5 > 4 

Therefore   5,394 > 4,289 

Ascending Order means arranging the numbers in increasing order. 

   For example:  
   a)   758, 959 , 166 , 345 
       Ans:  166, 345 , 758 ,959 
Descending Order means arranging the numbers in decreasing order. 
   For example: 
    a)  560, 3879, 4890, 7935 
    Ans: 7935, 4890, 3879, 560 

Exercise- 4(Textbook work ) 
Q1. Fill in blanks using the signs <,> or =                     
    a)  834 < 1590 
    b)  5910 < 5911 
    c)   8544 = 8544 
Q2. Circle the greatest number: 
    a)  813, 1001, 9990,270. 
Ans:  9990 
    b)  8461,8479,8439,8410. 
Ans: 8479 
3. Circle the smallest number. 
    a) 7478,7470,7473,7474 
Ans: 7470 
    b) 9305, 953, 1999, 9315 
Ans: 953 
Q.4 Arrange the numbers in ascending order. 

a)  3747     1674     9542 
Ans. 1674    3747    9542 

b) 8464    9894    3799    7877 
Ans.  3799    7877    8464    9894  
Q.5 Arrange the numbers in descending order. 



     a) 489, 241, 964, 639 
   Ans  964, 639, 489, 241 
     b) 3845, 1895, 4892, 2542 
   Ans  4892, 3845, 2542, 1895 
 
FORMING GREATEST NUMBER AND SMALLEST NUMBER WITH THE GIVEN DIGITS. 

Example- 
Form the 4-digit greatest number using the given digits: 

   a)  7, 6, 9, 5 
        Greatest 4-digit number is 9765. 
   b)  0 , 3 , 7 , 1 
        Greatest 4-digit number is 7310  

Form the 4-digit smallest number using the digits: 
   a) 6 , 9 , 0 , 7 
       Smallest 4-digit number is 6079 
   b) 4 , 8 , 9 , 1 
        Smallest 4-digit number is 1489  
 

Exercise- 5 (Textbook work ) 
Q.1 Use the given digits to make the smallest and greatest 4-digit numbers. 

Number  Greatest 

number  

Smallest 

number  

a) 6,5,0,9  9650  5069  

b) 8,1,1,5  8511  1158  
 
Odd and even numbers 
An even number is a number that can be put into pairs. Even numbers have 0,2, 4, 6 or 8 in the 
ones place.  
An odd number is a number that cannot be put into pairs. Odd numbers have 1,3, 5, 7 or 9 in 
the ones place.  
 

Exercise-6 (Textbook work ) 
 
Q. Identify the number as even or odd. 

a) 600 - even 
b) 5532-even 
c) 8011- odd 
d) 677- odd 



e) 5670- even 
f) 8001- odd 

Exercise- 7(Textbook work ) 
 
Q.1 Fill in the blanks: 
                                 Predecessor       Between           Successor 
                            a)   3163                   3164                  3165  
                            b)   5129                   5130                  5131 
                            c)   7398                   7399                  7400 
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CHAPTER- 2 Addition 

DEFINITION OF ADDITION 

 The addition is taking two or more numbers and adding them together, that is, it is, the total 

sum of 2 or more numbers. 

 

 

How many apples are there in all? 

There are 7 apples in one basket and 4 apples in the other. So, we add 7 and 4 to find the total 

number of apples. To add 7 and 4, we can count forward 4 steps from 7.The symbol used to 

indicate Addition is + (plus symbol). 

So, 7 and 4 can be written as 7 + 4 =11 

What are addends? 

 The  numbers  which are added are called Addends. 

  For Example:                                  

             The number 7 and 8 are addends and the sum is     15 

                        7    (addend) 

                  +    8    (addend) 

                                 15     (sum) 

   The answer of addition is called sum. 

   The symbol of addition is   + 

 

 

 Addition of four digit numbers without regrouping. 

 Add 3325 and 2231 



 

 

 Adding 4-digit numbers is just like adding 3-digit numbers. 

 Arrange the numbers one below other according to their places and then add. 

 Always start from the ones. 

 

CONCEPT  SECTION 

 

 Step-1 Add the ones.                   Th   H   T   O 

 Step-2 Add the tens.                     3    3   2    5 

 Step-3 Add the hundreds.       +   2    2   3    1  

 Step-4 Add the thousands.           5   5    5    6 

 

    EXERCISE  1 :  Add 

 

       a)           2 4  6 3                     b)        4 0 6 5 

                 +  1 3 2  4                           +   2 8 3 1 

         3 7 8  7                                 6 8 9 6 

 

      c)            6  0  0 3                      d)      2 1 1 2 

                 +  2 0  6  5                          +   2 1 1 2 

                     8 0  6   8                              4  2 2 4 

 

   EXERCISE  1 : WORD PROBLEM 

 I ) In a school library , there are 3425 story books and 2304 subject books. How many books     

are there in the library? 

 Solution : 

      Number of story books =           3 4 2 5 

      Number of subject books =  +   2 3 0 4  

      Total number of  books =          5 7 2 9    

      Ans : There are 5729 books in the library. 

   Adding 3-digit numbers with regrouping. 

 Example: Add 643 and 576 



 

 

 Step-1 Add the ones.   (3 + 6 =9)                              Th  H   T  O 

                                                                                               

 Step-2 Add the tens                                                           6    4   3 

            and regroup :  (4 + 7 =11)                                           +    5    7   6 

            11 tens = 1 hundred +1 ten                                             1  2   1   9                        

 Step-3 Add the hundreds                                                                      

            and regroup :   ( 1+ 6+ 5 =12)   

            12 hundreds =1thousand + 2 hundred 

 

    EXERCISE  2 

                                                                                

         a)        3  4  9                                   b)    5    3  6  

                +  8  3  8                                      +  6    0  7  

                1  1  8  7                                        1 1   4  3 

                                                                                   

  c)     8    8   8                                   d)     4   9    1  

             + 2    2   2                                      +   9   0    9  

             1 1    1   0                                        1 4   0    0 

   EXERCISE  2 : WORD PROBLEM 

   J ) There are 6 6 3 horses and 5 2 7 cows in a farm. How many animals are there in the           

farm?  

      Solution :                                                          

      Number of horses in a farm =                     6   6   3  

      Number of cows in a farm =                   +  5   2  7  

      Total number of animals in a farm =        11   9  0     

    Ans : There are 1190 animals in a farm. 

 

 

 

  Adding 4 - digit numbers with regrouping. 

 Example: Add 2808 and 4267 

1 

 

1 

1 

1 

1 1 1 

1 



 

 

     Step-1 Add the ones. 8 + 7 = 15 (15 ones = 1 ten + 5 ones)                         Th   H   T   O      

                                                                                                                                               

     Step-2 Add the tens. 1 + 0 + 6 =7                                                                      2    8   0    8 

     Step-3 Add the hundreds. 8 + 2 = 10 (10 hundreds =1 thousand )          +    4    2   6    7  

     Step-4 Add the thousands. 1 + 2 + 4 = 7                                                           7   0    7    5 

 

1 1 
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CHAPTER- 2 

Chapter : 2 Addition 

  Adding 4 - digit numbers with regrouping. 

 Example: Add 2808 and 4267 

     Step-1 Add the ones. 8 + 7 = 15 (15 ones = 1 ten + 5 ones)                         Th   H   T   O      

                                                                                                                                               

     Step-2 Add the tens. 1 + 0 + 6 =7                                                                      2    8   0    8 

     Step-3 Add the hundreds. 8 + 2 = 10 (10 hundreds =1 thousand )          +    4    2   6    7  

     Step-4 Add the thousands. 1 + 2 + 4 = 7                                                           7   0    7    5 

 

    EXERCISE  3   

                                                                                             

a)          1 3  2 3                          b)    3 4  1 5  

                      + 4 9  6 8                             +  3 8  7 9  

                         6  2  9 1                                7 2  9 4 

                                                                           

  c)        6 7  0 2                           d)    5 1  8 4  

                      + 1 4  3 9                             +   4 3  6 5 

                         8 1  4 1                                  9 5  4 9 

        EXERCISE  3 : WORD PROBLEM 

i)   In a train, there are 1570 first-class seats and 2550 second-class seats. How many 

people can sit in the train? 

           Solution :  

                                                                                                                      

           Number of first-class seats in the train =               1   5  7  0  

           Number of second-class seats in the train =    +    2   5  5  0  

           Total number of people can sit in the train =         4   1  2  0                 

            Ans : There are 4120 people can sit in the train. 

1 1 

1 

1 1 1 1 

1 1 

1 1 



EXERCISE  4 

  

a)        2   1  4  3                         b)     7  0  4  3  

                   +  1   5  4  1                                +    1 3  2  

                   +  2   0  1  4                                +    2 2  3 

                      5    6  9  8                                  7   3 9  8     

     

                                                                              

c)    2   3   4  6                            d)    3   6  0  0  

                + 1   1  0   8                              +        9  9  4 

                + 6  4   5   3                              +   2   2  2  2   

                   9  9   0   7                                    6   8  1  6 

 

     PROPERTIES OF ADDITION: 

 Order property :  Two numbers can be added in any order .Their sum remains the 

same. 

3 0 4 3 + 2 6 5 2 = 5 6 9 5      

OR         

2 6 5 2  + 3 0 4 3 = 5 6 9 5 

  Grouping property :  Three numbers can be added in any order. Their sum remains 

the same. 

( 3 4 2 6 + 2 0 4 1 ) + 1 2 3 1 = 6 6 9 8 

OR 

( 2 0 4 1 + 3 4 2 6 )  + 1 2 3 1 = 6 6 9 8 

OR  

( 1 2 3 1 + 2 0 4 1 )  + 3 4 2 6 = 6 6 9 8 

  Zero property :  When zero is added to a number , or when a number is added to 0 , 

the sum is the  number itself.  

                                    2 4 3 2  + 0 = 2 4 3 2       

                       OR 

                                                 0  +  2 4 3 2 = 2 4 3 2 

 

 

 

1 1 1 1 



EXERCISE  5 : USE THE PROPERTIES OF ADDITION TO ADD            

a) 4 6 0 3 + 2 1 1 2 = ___2112______ + 4 6 0 3 

b) 8 0 8 0  + 1 0 10________ = 1 0 1 0 + 8 0 8 0 

c) 3 1 1 8 + 2 6 0 + 1 2 1 2  =  1 2 1 2  + 3 1 1 8  + __2 6 0_____ 

d) 0  + 1 1 6    = 1 1 6 +  __0______ 

e) 8 1 8 1  +  0  = __8 1 8 1_____ 

f) 0 + 2 0 9 0 = ____2 0 9 0____ 

g) 3 4 8 9  + 1 =  3 4 9 0 

h) 2 6 0 0  + 1 =  2 6 0 1 

i)  ____0____  +  2 0 6 7 = 2 0 6 7 

j) ____1____ + 4 1 1 9 = 4 1 2 0 

 

MENTAL MATHS : 

 

 Work these out mentally. 

1. 82 + 8 = 90 

2. 5000 + 40 = 5040 

3. 48 + 12 = 60 

4. 53 + 47 = 100 

5. 609 + 10 = 619 

6. 299 + 100 = 399 
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CHAPTER- 3 

Subtraction 

DEFINITION 

Subtraction is taking one number away from another. 

 

                5          Minuend 

            -2          Subtrahend 

              3          Difference 

 

The symbol of subtraction is (-). 

  Terms Used In Subtraction are take away , left , how many more 

than , how many more are needed , remained , difference , give 

away .  

  

      SUBTRACTION OF 4-DIGIT NUMBER WITHOUT REGROUPING 

    Concept Section: 

    Subtracting four digit number is like 3-digit numbers only. 

    First arrange the number in columns one below the 

other,according to their places. The greater number should be 

above the smaller number. 

       For example:    3748-2543 

 

             Th H  T  O 

              3  7  4  8           Minuend 

           - 2  5  4  3           Subtrahend 

              1  2  0  5           Difference 

                            



                                       

            

Subtraction of 4- digit numbers without regrouping 

     

                          Exercise-1 

 

   a)   Th  H  T  O                c)     Th  H  T  O 

        8   7  8  0                         9   8   3  6 

      -2   0  6  0                      -  5   2  0  4 

        6   7  2  0                          4   6  3  2 

 

   e)    Th  H  T  O               h)     Th  H  T  O 

         4   3  8  6                         9   9  9  9 

    -        3  7  4                       -7   7  7  7 

         4   0  1  2                         2   2  2  2 

 

Word Problem:  

 

k)  A cycle costs 1085. Ashok has  850. How much does he    

need more to buy the cycle?  

Solution: 

    Cost of cycle         =       1  0   8   5 

  Money with Ashok =   -    8    5   0 

  More money needed=       2    3   5 

    Ans: Ashok needs  235 more to buy the cycle. 

     

           

 

 

 



 

 

  Subtraction of 4-digit numbers with regrouping: 

                             

   Exercise: 2 

 

 a)      Th  H  T  0                       d)   Th  H  T  0 

         4   8  1  6                               7   5  7  0 

       -3   5  0  7                             -4   8  8  0 

         1  3   0 9                                2   6  9  0 

 f)   Th  H  T  0                      h)    Th  H  T  0 

       3   1   5  1                              3   2   1  6 

     -     9   9  9                            - 1  8   3  9   

         2  1   5   2                              1  3   7   7 

 

Word Problem: 

i) There are 3050 houses in a town. 1505 houses are painted red.        

How many houses are not painted red? 

 

Solution: 

  Total houses in a town are      =      3  0  5  0 

  Number of houses painted red=  (-)1  5  0  5 

Number of houses not painted red=1  5  4  5 

 

There are 1,545 houses which are not painted red. 

 

 

 

 

 



 

 

Subtracting 4 digit numbers with zero: 

 

 

                 Exercise -3 

 

   a)    Th  H  T  0                 d)  Th  H  T  0 

         6   0  2  0                       8   1  0  0 

      - 2   5  1  8                     - 3  2  6  8 

         3  5  0   2                        4  8  3  2 

 

     

 



    f)   Th  H  T  0                 h)   Th  H  T  0 

        8   0  0  0                        9   0  1  0 

     - 4   3  6  5                      - 6  3  5  3 

          3  6  3   5                        2  6  5  7 

 

 

Word Problem: 

j) There are 6000 roses and 356 lilies in a flower shop. How many  

more roses than lilies are there? 

Solution: 

Number of roses in a flower shop =     6 0 0 0 

Number of lilies in a flower shop  =  (-)  3 5 6 

Number of roses more than lilies are= 5 6 4 4 

 

5644 roses are more than lilies. 

 

PROPERTIES OF SUBTRACTION: 

a) When a number is subtracted from itself, the difference is always    

    0. 

Example:  6242 – 6242 = 0 

                4000 – 4000 = 0 

 

b)  When 0 is subtracted from a number, the difference is the    

number itself. 

Example:   9204 – 0 = 9204 

                 8888 – 0 = 8888 

 

 

 

 



COMBINING ADDITION AND SUBTRACTION: 

Example :   312 – 413 + 345 

Step 1: Add the numbers with +sign before it 

               3  1  2 

         +    3  4  5 

               6   5  7       Sum 

 

Step  2: Now, from the sum subtract the number with the (-) sign 

before it. 

               6  5  7 

             -4  1  3 

               2  4  4         Difference 

 

Ans :  312 – 413 + 345 =244 

 

                       Exercise : 4 

 a) 563 + 214 – 306 

Step1: 

 First add the numbers with (+) sign before it.   

         5 6 3 

      +2 1 4 

         7 7 7        Sum 

Step 2: 

 Now from the sum, subtract the number with (-) sign before it . 

         7  7  7 

      - 3  0  6 

         4  7  1        Difference 

Ans:    563 + 214 – 306 = 471 

 

   



c)  896 – 223 + 416 

 Step 1:  

   First add the numbers with (+) sign before it. 

          8 9 6 

       + 4 1 6 

         13 1 2       Sum 

  Step 2: 

   Now from the sum , subtract the number 

   with (-) sign before it. 

          

 

           1 3 1 2 

        -    2 2 3 

           1 0 8 9      Difference 

Ans:  896 – 223 + 416 = 1089 

 

Word Problem 

(e) Samir had an album with 465 stickers in it. He added 135 new 

stickers and removed 68 damaged stickers . How many stickers 

does the album now have? 

Solution: 

Total number of stickers:          465 

 New stickers added       :(+)      135 

 Removed damaged stickers: (-)  68 

  465 + 135 – 68 

Step 1: Add the numbers with the (+) sign before it. 

              4  6  5  

           +1  3  5 

              6  0 0 



Step 2: Now from the sum, subtract the number with (-) sign 

before it. 

               6  0  0 

             -    6  8 

               5  3  2 

Therefore, now the album has 532 stickers. 

 

 

 

Relation between addition and subtraction: 

Addition means to put together. 

Subtraction means to take away. 

Therefore addition and subtraction are opposite of each other. 

We can check the answer of addition with the help of subtraction 

and vice-versa. 

 

Example:   

  Add the numbers and then check your answer with subtraction: 

For Example: 

 

    Th H  T  O                        

   3  4  5  1                 

+1  3  2  0                       

   4  7  7  1    

  

Check: 

    Th H T 0              Th H T 0  

      4 7 7 1     0R      4  7  7  1 

    -1 3 2 0            - 3  4  5  1 

     3 4  5 1               1  3  2  0 



 

Mental Maths: 

 a)  To subtract 9, first subtract 10 and then add 1, 

    147 – 9 = 

    First subtract 10 and then add 1 

     147-10=137 

     137+1=138 

 

 

 b)  To subtract 8, first subtract 10 and then add 2, 

     2137-8= 

    First subtract 10 and then add 2 

     2137-10=2127 

     2127+2=2129 

 

 

Mental Maths : 

Q1. Work out mentally:  

 

a)  244-9= 235          e) 8233-8=8225 

g)  281-19=262        k) 1636-19=1617 

 

Q2. Work out mentally:  

 

a)  88-8= 80             e)1600-600 =1000 

g) 10 less than 881=871 

j)  299-100=199 
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Chapter-4 

Multiplication 
DEFINITION OF MULTIPLICATION 

Multiplication means to add equal groups. In other words multiplication is repeated 

addition. 

 

For example, 

     6 × 9 = 54 

The numbers 6 and 9 are the factors, while the number 54 is the product. 

 

Check what you know 

Q1 Write the multiplication facts: 

  a) 4 groups of 3 cherries each=4 x 3 = 12 

  b)  2 rows of 5 flowers each= 2 x 5 = 10 

  c) 4 +4 +4 +4 + 4+ 4+ 4+ 4 =32 

  d) 4 groups of 3 coins each = 4 x 3 = 12 

  e) 8 fours= 8 x 4 = 32 

 

Q2 Learn the tables: 2-12 

 

3. Multiply: 

 a)    2  2                  b)  3  3 

       ×  3                       ×  2 

       6  6                        6  6 

 

 e)    6  3                   f)  5  7 

       ×  6                       ×  4 

      3 7 8                     2 2 8 

 

      Word Problem 

Q4  a) A mustard flower has 4 petals. How          many petals do 7 mustard 

flowers have ? 

Solution: 

     Number of petals on 1 flower = 4 

     Number of petals on 7 flower = 4x7 

                                                   =28 



       Therefore, there are 28 petals on 7 mustard flowers. 

 

 

      Exercise -1 

 

Q2. Multiply using the tables: 

a)  6×8=48 

b)  5×7=35 

              c)  6×9=54 

d)  3×8=24 

e)  4×6=24 

f)   7×7=49 

           n)  7×10=70 

 

Q3. An octopus has 8 legs. How many legs do 9 octopuses have? 

 

Solution: 

      Number of legs in 1 octopus =  8 

      Number of legs in 9 octopuses= 8 × 9 

                                                      = 72 

 

     Therefore, 9 octopuses will have 72 legs. 

 

 

d) A tailor stitches 9 buttons on a shirt. How many buttons will he need for 6 

shirts? 

Solution: 

   Number of buttons on 1 shirt =9 

   Number of buttons on 6 shirts = 9×6 

                                                   =54 

Therefore, he will need 54 buttons on 6 shirts. 

 

  Multiply a 3-digit number by a 1-digit number without regrouping 

 

                 Exercise -2 

 

 a)   1  3  2                     c)  1  1  0 

          × 3                            ×   5  

      3  9  6                         5  5  0 

 



 

e)   1  0  1 

         ×  6 

      6  0  6      

 

 

Multiply with regrouping 

Exercise: 3 

 

Q1. Multiply ( regroup once): 

    

  a)   3  0  4                              d)   1  6  0 

          ×  3                                        ×  9 

      9  1   2                                   1 4 4 0 

 

Q2. Multiply (regroup twice): 

  

a)   2  8  4                     d)  1  4  6 

         × 3                              ×  6 

    8  5  2                           8  7  6 

 

 

g)  1  9  4                     j)   5  2  0 

          × 6                              × 8 

   1 1  6  4                        4 1 6 0 

 

 

 

 

Q 3.  Solve: 

 

a) The price of one maths book is Rs. 275. What is the price of 5 maths    

books? 

Solution: 

        Price of 1 maths book = 2 7 5  

        Price of 5 maths book = 275 × 5 

 

                    2  7  5 

                        ×  5 

                 1 3   7  5 



 Therefore, price of 5 maths books is Rs. 1375. 

 

 

 

Multiplying by tens and hundreds 

Exercise -4 

Q1. Multiply: 

   a) 6 × 10= 60 

   d) 80 × 4 =320 

     h) 9 × 400 =3600 

     j) 405 × 10= 4050 

     l) 100 × 21 = 2100 

     

Exercise :5 Multiply 

 

a)    4   2                              b)   2   3                       c)   3  3 

    x  2  2                                x  1   3                          x 1  2 

       8   4                                    6   9                             6  6 

+ 8  4   0                           +  2  3   0                      + 3  3   0 

   9  2   4                                 2  9  9                         3  9   6 

 

Multiplying with regrouping  

 

Exercise 6: Multiply 

 

a)    3  7                          b)    4  3 

     x2  4                              x 2  4  

     1 4  8                              1 7 2 

  +7  4  0                          + 8 6 0 

     8  8  8                           10 3 2 

 

 

 

c)    5  2                          d)  6  3 

    x 1  3                             x 3 3            

     1 5 6                             1 8 9 

   +5 2 0                       + 1 8 9 0 

    6  7 6                        2 0  7   9 

 

 



 

e)   4  5                             f)  2  6 

   x 2  8                              x 5  4 

    3 6 0                               1 0 4 

 +9  0 0                          +13 0 0 

  1 2 6 0                            14 0 4 

 

 

 

 

 

Mental Maths: 

 

Q1. Use the 11 –times table to multiply: 

a) 5 × 11 = 55 

b) 9 × 11 = 99 

c) 10 x 11 = 110 

   d) 6 × 11 = 66 

 

 

 

Q 2. Multiply mentally and fill in the blanks: 

 

    a) 30 × 7 = 210 

    b) 40 x 10 = 400 

    c) 900 x 10 = 9000 

    d) 36 x 100 = 3600 

    e) 10 x 57 = 570 

    f) 200 x 11 = 2200 

    g) 93 x 0 = 0 

    h) 37 x 1= 37  

    i) 8 x 800 = 6400 

    j) 156 x    10     = 1560 

    k) 6 x 7    = 42 

    l) 40 x 20 = 800 
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CHAPTER-5

SHAPES AND PATTERNS

 

 

SHAPES
• A shape can be defined as the form of an object or 

its outline, outer boundary or outer surface. 

Types of Shapes

2-D Shapes     3-D Shapes

 

 

 



DEFINITION OF 2-D SHAPES

• A 2D shape or a two-dimensional shape can be defined as a flat 

plane figure or a shape that has two dimensions – length and width.

• Two-dimensional or 2-D shapes do not have any thickness and can 

be measured in only two faces.

 

 

 

 

 

 

 



 

DEFINITION OF 3-D SHAPES

3D shapes are known as three-dimensional shapes or solids. 3D 

shapes have three different measures such as length, width, and height 

as its dimensions. They occupy space. The only difference between 2D 

shape and 3D shapes is that 3D shapes have a thickness or depth.

 

 

 

 
 

 

 



 

 

 

 

 

 

 

 

 



EXERCISE-1



SYMMETRY

•The line that divides a symmetrical 

figure into two parts that are exactly 

the same is called the line of symmetry.

 

Example 

 

 

 

 

 



EXERCISE -2

 



PATTERNS

Repeating shapes make a pattern. 

Patterns make things look beautiful.

 

 



 

 

 

 

 

 

 

 



 

 

 

 

 

TILING PATTERNS

 

 

 

 



 

 

 

 



CONTINUED

 

 

 

 

 



 

 

 

  



CONTINUED

 

 

 

 

  -----------------------------------------------------------------------------------------------------------------------------------------       



Time

 

 

 

 

 



Define Time:

Time is the ongoing sequence of events 
taking place. The past, present and future. 
The basic unit of time is the second. There 
are also minutes, hours, days, weeks, months 
and years. We can measure time using 
clocks.

 

 

 

 

 

1) The short hand in the clock is called Hour
hand .

2) The long hand of the clock is called minute
hand.

3)  The difference between two consecutive 
numbers in the clock is equal to 5 minutes.

 



 

 

  



 

 

 

  



                                                     Practice Worksheet 

 

 

 

 



 

Q1. What is the time?

a) 1hour after 8:00 =
8:00 + 1 hour = 9:00

b) 1 hour before 4:30=
4:30 – 1:00 hour= 3:30

c) 2 hour after 2:10=
2:10 + 2 hour= 4:10

 

 

 

d) 2 hours before 5:00 ?

5:00 – 2 hours = 3:00

e) 30 minutes before 12:00 ? 

12:00 -30 minutes=              

( 1 hour = 60 minutes)

11:60

- :30

11:30

f) 30 minutes before 9:30?

9:30 – 30 minutes=9:00

  



 

 

Q3 Aditi’s flight from Delhi to London will take off from       
Delhi airport at 11:15. Since it is an international flight, 
she has to report at the airport 3 hours before the 
departure time. At what time should she reach the 

airport?

Solution:

Time of flight to take off = 11:15

Reporting time before =3 hours

Time she should reach the airport=?

11:15 +3 hours= 8:15

She should reach the airport at 8:15

 

 

                

                

  



                                                                          Worksheet 

 

 

 

 



                                        Use of a.m. and p.m. 

 

 

 

  



                                                              Worksheet 

 

 



 

 

 



Exercise -5

Q2. Write your date of birth in three 
different ways:

Solution

i)   20/08/2011

ii)   20th August 2011

iii)  20-08-2011
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